Equations for EDM screen

Caryn



HV | hel. | erystal | pol. | direction equation
1| + 1 + | 4240 Vi=Vyaua+ Va1 +Veirai + Vaposv + Vipos.
2| + 1| -| —z1-v | Va=—=Viaa— Vaa — Verraa + Vapesv + Vipos.v
3| + 2| + | -2 Va=VWVau+ Va2 + Veiraz + Vapes.v + Viposyv
4] + 2 - | s224v | Va=—Vau— Voo — Verraz + Vapesv + Viposy
3 - 1 - | 12140 | Vs =—Vaua— Va1 + Verrai — Vaposv + Vipos.v
6| - 1| + | —a1,—t Ve = Vs + Va1 — Verraa — Vapoesv + Vipos.v
T - 2| -| —s2-v | Va= =V — Va2 + Veiraz2 — Vapes.v + Viposv
8| - 2| + | 4224V Vs = Vi + Va2 — Veira2 — Vaposv + Viposv

By default, we keep these

Veiraz)
By default, we set
| va — Va.l — Va.2

Turn HV1,2...8

into 5 params:

Quarter wave
voltage

Alpha voltage
PITA voltage
Alpha-position-
U voltage
Alpha-
position-V
voltage

equal, and combine them into to one parameter Vp;ra = Vpira1 =

By default, we typically set

) ‘/dpo.sl = v&pos.lf = 0.



Equation reversal

Quanerwae  Via= (i —Va+ Vy —Vi— Vi + Vo= Vi + 15)/8

Alphavoltage Vo1 =(Vi — Vo —V5+V5)/4 Vo= (V5—V,— V7 +V5)/4

PITA voltage Verrar= (Vi —Va+ V5 = V5)/4 Vprraz = (V3 —Vi+ V7 — 15)/4

Alpha-position-U ‘;\pus.(' — ("1 T "2 _ ‘.') - ‘;))/1 ‘;\pu.s.V — ("i T "4 _ ‘:4' - ‘;)/1
voltage &

Alpha-position-V

voltage

Delta-position ~ Vi,os 0 = (Vi + Vo + V5 + V) /4 Vv = (Vs + Vi + Vo 4+ 15)/4
voltages we

typically set to
0



